Intermediate Algebra - 5.7 Solving Equations by Factoring October 01, 2013

Review:
Mulply the polynomials: (3x2 — x3 4+ 2x + 1)(4x — 5)

X CABCEHEX TIRPIN-9) 125442 S)+ (390
12x2-1SK - 4xT+ 5 x %, g — \OX +4x -5
E 45T 4 \7x3~—:]'xz—(px _.g

Divide the polynomials: x + 3x* — x? + 5x3 — 2

4 3 2 x+ 2 —
45X X + X2 Quotient :
X +2
235 -1 | -2
b R -2 2

—

5.7 Solving Equaons by Factoring

Zero Product Property:

If AB=0, then A=0 or B=0

Example:
(x+2)(x-5)(3x+4)=0
Set each factor = 0 and solve for x.

2= ,X-5=0, 3x+t+=0

= — AX= -4
$=-2 y X=3 —

y K= ‘r/3
Example of what not to do:

(x-3)(x+4)(x-2)=5
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5.7
(4. Xx-b=0

DA -2)=O
X+320  X-2=O

X=-3 xszj

L0 sz_)% :O
SICNE,
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2o Arjz—lclj =5

432_ lqj -5= O
4(-5)=-20 = (20)(1)
4’32—203 4\'.:1— 5=0
44(y-3y+1(y-=0

(3’5}(‘\3+D: O
y-5=0 yt1=0

-Ga 4y=-|

40 . (x+2) (%~ ) =2.0)
(x+2)(X-0)-20 = O
X =bx+2%-12-20 =)
X'=4x-22 =0
(X—8><x+ "r> =0

X-8=0 x+4:=0

Gt

October 01, 2013
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48. 2 +x*-Bx-4=(D

Xz(Q ><-(—D_ ﬂ—(zx.{-D = O
(24D 4) = O &b =
(2x %) (x+:z)(x.:2} O (o«f\r)(ox+>

2x+|=0  X+2=0 X=2% Q

32. t(t+D=42 2. (o)1
prrt=42 o a ~-0-qo+q:=-F
+*+t-42=0 06 -100+b=0O

E+I)(E-)=O -3 Xx-2)=0

El:z-'-f ‘L=Ej Z a=8 &=2]

4o. (:L-b)L xb =10 50. L -3 -3x+2=0

4-‘cb+l;§‘+b1=lo S
oth70 G0
%KZ’\’\(@ O B2 @xHlxs)-0

lb(b 6)
33?!137%5—3) X220 H[0 X+=0

53 “’ﬂb +2° 3x i Zx- 7x— /
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52 Fo=X+ttx-2 f@©=3
Find all values of ¢ $oc which fl©=3
T@=¢c*+ 4D

C+4e-2=3
C*+4c-5=0
-1 )c+5)=0O

LC,:l >C:ﬂ

58. $6) = x4 3x=4x~| | RO 0@—5‘=(a—@(a+\§
F(D =3¢ 4] (
C+3c-4c-1]= | CQ:Ar Vs
et ho—12 = O (¢ 27@%
—~— ~—
C'(c+3)-4(C +3)=0)
(C+3)<C 2 ‘\'> =O

e+ (e 42)(e-2)=0
C=-> )Q:‘Z)Cz/@
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ot I =Ty
K =8x"+ Fx =O
X(x*- 8x + 7) =0
Xx=1)x 1) =0

X0\ X~z X7=0
K= X:T,l )

12 helsh’c of & AN iS5 4cem more
Hhan twice the \ef\g—H\ oF base

Area of A\ s 3D em . Find \'\eijh‘\'.
‘ A:ébh ; l’k: 4‘ +2L)

. . 35==b(4+

; ’QH/QB

h7>"<< b; S 39g 47
=412 (s O =2 +2b-25
o) 0-(7)(b-5)
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Quiz #6 on multiplying/dividing polynomials and factoring - Fri Oct 4
Test #3 - Tues Oct 8

Test #4 - Fri Oct 18

Final Exam - Week of Oct 28!
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